| dE/dx estimator 1 |

Ratio

Ratio

0.35

0.3

0.25

0.2

0.15

0.1

0.05

.....................................

Entries 709
Mean

Std Dev

Entries 711
Mean
Std Dev

Entries 719
Mean

Std Dev

.................................

1

+

5 6 7 8 9 10

dE/dx, harm?2

Ratio
=
N
!

| dE/dx estimator 2 |

0.4

0.35

0.3

0.25

0.2

0.15

0.1

0.05

Entries 709
Mean
Std Dev

Entries 711
Mean
Std Dev

Entries 719

012 3 4 5 6

778 910
dE/dx, trunc40

—s— DQM _original_step?2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

0.12f
0.08}

0.04}

0.02fF

ot

...................................

T e

—— DQM_pixel

CTTITeS TOT

Mean

Entries 711
Mean

Std Dev

Entries 719
Mean 9.75

Std Dev

10 20 30 40 50 60 70 80

dE/dx number of measurements

CPEChIi20R_step2_ttbar-phasel-newgeom

0.5

0.4

1

0.3;

S e e

-

.............................................

0.2

|-1-r-|-1-

0.1

CTIaTeS 709
Mean 0.7207
Std Dev 0.9326
Entries 711
Mean 0.7032
Std Dev 0.8894
Entries 719
Mean 0.6982
Std Dev 0.9024

.........................

...........................................

Ratio
=

0.9k

0.8%

.........................

dE/dx number of measurements

0 10 20 30 40 50 60 70 80

with saturation



	Contents
	Page 1


